tricot10-2 Knit Cap

Suggested yarn:
* Keito-Zakka Stores Sheep's Walk [53% wool, 35% polyester, 12% nylon; 71 yds/65m per 1.41 oz./
40g skein]; color #04 grassland, 2 skeins [75g]

Tools/Notions:
* 4.5mm (US 7) knitting needles or size necessary to achieve gauge
+ cable needle

Finished measurements:
« head circumference 48¢m/18.90"
+ depth 20cm/7.87"

Gauge (10cm/4" square):
* pattern stitch: 20 sts and 25 rows
* k1p1 ribbing: 17.5 sts and 25 rows

Gauge may vary according to individual knitting style. Change needle size if necessary to achieve gauge. Alternatively,
rework pattern with your own gauge measurements.

Summary

Body: Cast on with long-tail cast-on method and join into the round. Work in k1pl ribbing and pattern stitch in the
round. After working 35 rounds, work evenly spaced decreases on round 36. When finished, cut yarn tail and thread
through remaining 39 sts twice to cinch shut.

Finishing: Make one pompom 5¢cm/1.97" in diameter. Fasten to top of hat.

Abbreviations:

CO=caston

k = knit

p = purl

RE = round(s) even

#-#-#-# = rounds-stitches-places-times [for evenly spaced decreases across entire width item]. For example, 1-2-3-4
means "every 1 round, decrease 2 stitches in each of 3 places acrossthe round; do this 4 times total."
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Pompom instructions

Tie at center

% =work evenly spaced decreases (see chart)

= pattern stitch

Wrap 2 times clockwise.

Use QR code on smartphone
to view a video tutorial about
the pattern stitch.
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